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Second View
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Third View
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Fourth View
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Final View

= 240)

20(oco acceU_

poco accel.. (J

=160)
9

J N

Energetically (J

#
#

1
)

15

b

te

e

te

e

<

Y A
[ an WU N

be

<

<

<

N\

#

21

oL
y A
[ Fan WS N

A3

A%

A

AL

26

= =

230"

S

A
AL
Ad
>
~e
X 10N
A
~e
~e
AL
A
>
~y

=

poco accel..

42 >

T
==

oL

[
\Ea
Y|
Q[
=
|
=
o
Q
A
~7
—(
[«5]
(P]
[P
&
o
g
2 0
AL
&
~g
A
AL
N
=
w &g
I
I "
N
N’
X
N
=
e va v
NG

poco.accel..

53

-

#
H




Clarinet in Bb 1

R

poco accel..
o
O

O

(J = 270)
“

59

H

~
AL
_|L
on 4]
I
b
AL
‘\ q
ek |
r
>~
¢
A
N
Q]
m >~
(g\]
Il
2
(
R==
s vi v
N

o
~
3
S )
I =
- S
I
N
r N’
[<5]
=3
S |1
—
7]
%]
—
=
= <
= <
=]
*
)
[7,]
St
[<P]
N 2
p—
17}
| Ie)
—
=4
Q
~g I
B )
N’
X
. =
| || [<5]
ﬁ 2
e § L] )
[-?]
=
r =
m= <
A XN
Oe
Q n.w w

2 30"

[ fan

:

h e
@

22

#

117

H

2 300

149
#

P

o\
[ fan Y.

H




Clarinet in Bb 1

10

O

[,

poco rit..

#

161

#

AN

EX!

X |

LAY

X!

X |

AN

A

|j>

4 H#o

168

J
174 Atem
w
HI

ANSY
[y

—3—

he
@
=

—3—

—3—

po (J = 100)
10

het

—3—

190
#

<

h g

2 30

—3—

200
#

20

206

#
#




